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The equation of the line tangent to y = x + sinx at the pointx = 0'is
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12. At what points, if any, does the graph of y = x3 — 3x + 4 have a horizontal tangent line? Nosn
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A. Continuous but not differentiable B. Differentiable but not continuous
C. Neither continuous or differentiable Both continuous and differentiable

14. If a function is differentiable over an interval (a, b), then it must be continuous over the entire interval.
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The function f is defined by f(x) = pyr What points (x, y) on the graph of f have the property that

+ 2
. L (e - x (V) _ L
the line tangent to f at (x, y) has a slope 5? ()U,;)a ] ;)

A. (%%) only (0,0) and (—4,2) C.(0,0) and (4, g) D. There are no such points
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3x2 tan x + x” sec’ x B. 3x%tan x + x° csc’ x C. 3x*tanx—x’sec’ x D. 3x’tanx — x° csc’ x
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18. The graph of a function f is shown to the right. At which value
of x is f continuous, but not differentiable?
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24. The table to the right gives values for the functions f and g and FU3) | g3 131 | g13)
their derivatives at x = 3. Let k be the function given by
k(x) = % where g(x) # 0. What is the value of k'(3)? -1 | 2 5 -2
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25. What is the average rate of change of y = cos(2x) on the interval [0, E]"
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